                           6TH  SEM
           DESIGN OF STEEL STRUCTURE  
                   2 MARK QUESTION
1.What do you mean by action in limit state method of design ?
2- List of two important advantages of welding over bolting?
3.What is the value of partial safety factor for dead load and live load for checking deflection.
4.What is the value of maximum longitudinal pitch allowed in bolted tension member.
5.Define fatigue in steel structure.
6.For bolt or property class4.6. what do the number 4 and 6 indicate.
7.What do you mean by gauge.
8.What do u mean by black bolt and HSFG bolt.
9.Define following terms----
    a.Pitch bolt
    b.Gauge distance
    c.Edge distance
10.Distinguish lap joint and butt joint.
                   5 MARK QUESTION
1.List of assumption made in design of bearing bolt along with limitations.
2.What is block shear failure. explain with sketch of bolted and welded connection.
3.What is advantage of steel as a structural  material.
                   7 MARK QUESTION
1. Find the maximum force that can be transmitted through a double bolted chain lap joint consisting of 6 bolts in two flows connecting 2 plates of thickness 12mm and 10mm. Give the M16 bolt grade 4.6 and fe410 steel to be used.
2. A member or truss consisting of two angle ISA 65X65X6mm placed back to back carries an ultimate tensile load of 120 KN and is connected to gusset plate 8mm thick placed between two connected leg and determine the number of M16 bolt of property class 4.6 required for the joint . Assume grade of steel as fe410.



